

TRACE INEQUALITIES FOR POSITIVE SEMIDEFINITE MATRICES

PROJESH NATH CHOUDHURY

AND

K.C. SIVAKUMAR

Department of Mathematics
Indian Institute of Technology Madras
Chennai 600 036, India

e-mail: n.projesh@gmail.com
kcskumar@iitm.ac.in

Abstract

Certain trace inequalities for positive definite matrices are generalized for positive semidefinite matrices using the notion of the group generalized inverse.

Keywords: positive semidefinite matrix, group inverse, trace inequalities.

2010 Mathematics Subject Classification: 15B57, 15A09, 15A39.

1. INTRODUCTION AND PRELIMINARIES

We study certain trace inequalities for positive semidefinite matrices. We show how some recently obtained results on trace inequalities for positive definite matrices can be extended to positive semidefinite matrices. We provide a framework where our results apply.

Let $\mathbb{C}^{m \times n}$ denote the set of all $m \times n$ matrices over the complex numbers. A Hermitian matrix $A \in \mathbb{C}^{n \times n}$ is positive semidefinite if $x^*Ax \geq 0$ for all $x \in \mathbb{C}^n$ and positive definite if $x^*Ax > 0$ for all nonzero $x \in \mathbb{C}^n$. The trace of $A \in \mathbb{C}^{n \times n}$ is the sum of its main diagonal entries, or, equivalently, the sum of its eigenvalues.

Obtaining solutions of many algebraic Riccati equations and Lyapunov equations is very difficult in general and impossible in some particular instances. In such cases, one looks for bounds for the trace of products of positive definite or

positive semidefinite matrices. For more details, we refer to [6] (and the references cited therein). These inequalities are also important in problems in communication systems with multiple input and multiple output (see [8]).

Let us start with the following result. If A and B are positive definite matrices then

$$\text{Tr}\{(A - B)(B^{-1} - A^{-1})\} \geq 0.$$

This was generalized to the result, viz., if A, B are positive definite and C, D are positive semidefinite then

$$\text{Tr}[(A - B)(B^{-1} - A^{-1}) + (C - D)\{(B + D)^{-1} - (A + C)^{-1}\}] \geq 0.$$

This was further improved to the following inequality

$$\text{Tr}[(A - B)(B^{-1} - A^{-1}) + 4(C - D)\{(B + D)^{-1} - (A + C)^{-1}\}] \geq 0.$$

Another interesting result for a positive definite block matrix is that such a matrix could be written as a product PP^* and Q^*Q , where P and Q are lower triangular block matrices whose subblocks are expressed in terms of the Schur complement and the complementary Schur complement of the matrix that one started with.

We generalize the results mentioned above in Theorem 7 and Theorem 13. In order to state the next result, we need some terminology.

For $A \in \mathbb{C}^{n \times n}$, let $R(A)$, $N(A)$, $\text{Tr}(A)$, and $rk(A)$ denote the range space of A , the null space of A , the trace of A and the rank of A . The Moore-Penrose (generalized) inverse of $A \in \mathbb{C}^{m \times n}$ is the unique $X \in \mathbb{C}^{n \times m}$ satisfying $A = AXA$, $X = XAX$, $(AX)^* = AX$ and $(XA)^* = XA$ and is denoted by A^\dagger . The group (generalized) inverse of $A \in \mathbb{C}^{n \times n}$, if it exists, is the unique $X \in \mathbb{C}^{n \times n}$ satisfying $A = AXA$, $X = XAX$ and $AX = XA$ and is denoted by $A^\#$. If A is nonsingular, then $A^{-1} = A^\dagger = A^\#$. A necessary and sufficient condition for a matrix to have a group inverse is $rk(A^2) = rk(A)$. Another characterization is that the subspaces $R(A)$ and $N(A)$ are complementary. Let us recall that a matrix $A \in \mathbb{C}^{n \times n}$ is called range-Hermitian if $R(A^*) = R(A)$. It is known that $A^\dagger = A^\#$ if and only if A is range-Hermitian. In particular, if A is positive semidefinite then it is Hermitian and so it follows that $A^\#$ exists. It may be verified that (if $A^\#$ exists, then) one has $R(A) = R(A^\#)$. Let us also include a result that will be used quite frequently in our proofs. If $A, B \in \mathbb{C}^{n \times n}$ are such that $A^\#$ exists and $R(B) \subseteq R(A)$, then $AA^\#B = B$. One also has the following: If $R(B) = R(A)$, then $AA^\# = BB^\#$. For proofs and other details, we refer to [4].

Let $U = \begin{pmatrix} A_U & B_U \\ B_U^* & C_U \end{pmatrix} \in \mathbb{C}^{n \times n}$ be positive semidefinite. Since A_U and C_U are Hermitian, $A_U^\#$ and $C_U^\#$ exist. The *pseudo Schur complement* of A_U , denoted by F_U , is $F_U = C_U - B_U^*A_U^\#B_U$ and the *complementary pseudo Schur complement* denoted by G_U is $G_U = A_U - B_UC_U^\#B_U^*$. Extensions of the formulae

for the usual Schur complements have been discussed in detail for the case of the Moore-Penrose inverse and several properties have been obtained [12, section 1.6].

In Theorem 14, we prove that a positive semidefinite matrix can be written as a product of a block upper triangular matrix and its conjugate transpose in two different ways. As an application of this result, we derive a trace inequality for positive semidefinite block matrices in Theorem 15.

The following three results give trace inequalities for products of matrices.

Theorem 1 [11, Theorem 3.1]. *Let $A, B \in \mathbb{C}^{n \times n}$. Then for any positive integer m ,*

$$|Tr(AB)^{2m}| \leq Tr(A^*ABB^*)^m \leq Tr\{(A^*A)^m(BB^*)^m\}.$$

Theorem 2 [1, Exercise 12.14]. *Let $A, B \in \mathbb{C}^{n \times n}$ be positive semidefinite. Then*

$$Tr(AB) \geq 0.$$

Theorem 3 [5, Lemma 3.3]. *For Hermitian matrices X_1, X_2 and positive semidefinite S_1, S_2 , set $\alpha = Tr(X_1S_1X_1S_2)$, $\beta = Tr(X_2S_1X_2S_2)$ and $\gamma = Tr(X_1S_1X_2S_2)$. Then, for positive real numbers a and b one has*

$$a\alpha + b\beta \geq 2\sqrt{ab}|\gamma|.$$

The next result concerns the reverse monotonicity of the group inverse. Let us note that the original result is proved for the Moore-Penrose inverse. However, since the matrix under consideration is Hermitian, the Moore-Penrose inverse coincides with the group inverse.

Theorem 4 [10, Theorem 1]. *Let $A, B \in \mathbb{C}^{n \times n}$ be positive semidefinite. Then any two of the following conditions imply the third:*

- (i) $A - B$ is positive semidefinite
- (ii) $rk(A) = rk(B)$
- (iii) $B^\# - A^\#$ is positive semidefinite.

2. MAIN RESULTS

In this section, we present the main results. The first result gives certain relationships between the range spaces of the subblocks of a positive semidefinite block matrix.

Theorem 5 [13, Exercise 34, p. 226]. *Let $U = \begin{pmatrix} A_U & B_U \\ B_U^* & C_U \end{pmatrix}$ be positive semidefinite. Then*

$$(i) R(B_U) \subseteq R(A_U) = R(A_U^{1/2}).$$

$$(ii) R(B_U^*) \subseteq R(C_U) = R(C_U^{1/2}).$$

If A is a positive definite matrix, then A^{-1} (exists and) is positive definite. We have an analogue for the group inverse, too.

Lemma 6. $A \in \mathbb{C}^{n \times n}$ be positive semidefinite. Then $A^\#$ is positive semidefinite.

Proof. Note that since A is Hermitian, $A^\#$ exists. Also, $(A^\#)^* = (A^*)^\# = A^\#$. Now for any $x \in \mathbb{C}^n$, one has $x^* A^\# x = x^* A^\# A A^\# x = (A^\# x)^* A (A^\# x) \geq 0$. Thus $A^\#$ is positive semidefinite. ■

If A and B are positive definite matrices, then $Tr\{(A - B)(B^{-1} - A^{-1})\} \geq 0$ [1, Exercise 12.28 (c)]. We generalize this result to the case of positive semidefinite matrices.

Theorem 7. Let $A, B \in \mathbb{C}^{n \times n}$ be positive semidefinite with $R(A) = R(B)$. Then

$$Tr\{(A - B)(B^\# - A^\#)\} \geq 0.$$

Proof. Since $R(A) = R(B)$, so there exists a unitary matrix U such that

$$A = U \begin{pmatrix} E & 0 \\ 0 & 0 \end{pmatrix} U^* \text{ and } B = U \begin{pmatrix} F & 0 \\ 0 & 0 \end{pmatrix} U^*,$$

where E and F are positive definite matrices of the same size. Now

$$A - B = U \begin{pmatrix} E - F & 0 \\ 0 & 0 \end{pmatrix} U^* \text{ and } B^\# - A^\# = U \begin{pmatrix} F^{-1} - E^{-1} & 0 \\ 0 & 0 \end{pmatrix} U^*.$$

Thus $Tr\{(A - B)(B^\# - A^\#)\} = Tr\{(E - F)(F^{-1} - E^{-1})\} \geq 0$. ■

In the preceding result, the condition $R(A) = R(B)$ is indispensable.

Example 8. Let $A = \begin{pmatrix} 1 & 0 \\ 0 & 0 \end{pmatrix}$ and $B = \begin{pmatrix} 0 & 0 \\ 0 & 1 \end{pmatrix}$. Then A, B are positive semidefinite and $R(A) \neq R(B)$. Now $(A - B)(B^\# - A^\#) = \begin{pmatrix} -1 & 0 \\ 0 & -1 \end{pmatrix}$ has negative trace.

To motivate the next result, let us recall Lemma 2.3 of [3]. Let A, B be positive definite and C, D be positive semidefinite matrices of the same size. Let X be any Hermitian matrix. Then $Tr(XA^{-1}XB^{-1}) - Tr\{X(A + C)^{-1}X(B + D)^{-1}\} \geq 0$. We extend this inequality to the case when both A and B are just positive semidefinite. Let us note that, for a positive semidefinite matrix E , since $E = S^*S$, it follows that $x^*Ex = 0$ if and only if $Ex = 0$.

Theorem 9. *Let $A, B, C, D \in \mathbb{C}^{n \times n}$ be positive semidefinite and let $X \in \mathbb{C}^{n \times n}$ be Hermitian. If $R(C) \subseteq R(A)$ and $R(D) \subseteq R(B)$, then*

$$\text{Tr}(XA^\#XB^\#) - \text{Tr}\{X(A+C)^\#X(B+D)^\#\} \geq 0.$$

Proof. First, we shall show that $R(A+C) = R(A)$. Let $(A+C)x = 0$. Then $x^*(A+C)x = 0$ so that $x^*Ax + x^*Cx = 0$. As both the terms are nonnegative (since A and C are positive semidefinite), we get $x^*Ax = 0 = x^*Cx$. In particular, $Ax = 0$. So $N(A+C) \subseteq N(A)$. Hence $R(A) \subseteq R(A+C) \subseteq R(A)$ using $R(C) \subseteq R(A)$. Thus $R(A+C) = R(A)$ and so $\text{rk}(A+C) = \text{rk}(A)$. Now $(A+C)-A$ is positive semidefinite. Hence by Theorem 4, $A^\# - (A+C)^\#$ is positive semidefinite. Similarly, it follows that $B^\# - (B+D)^\#$ is positive semidefinite. Since $XA^\#X$ is positive semidefinite (as X is Hermitian) by Theorem 2, we have

$$\text{Tr}\{(XA^\#X)(B^\# - (B+D)^\#)\} \geq 0,$$

so that

$$\text{Tr}(XA^\#XB^\#) \geq \text{Tr}\{XA^\#X(B+D)^\#\}.$$

Again, by Theorem 2,

$$\text{Tr}\{[X(A^\# - (A+C)^\#)X]\{(B+D)^\#\}\} \geq 0,$$

so that

$$\text{Tr}\{XA^\#X(B+D)^\#\} \geq \text{Tr}\{X(A+C)^\#X(B+D)^\#\}.$$

Combining these inequalities we have

$$\text{Tr}(XA^\#XB^\#) \geq \text{Tr}\{X(A+C)^\#X(B+D)^\#\}. \quad \blacksquare$$

Remark 10. The inclusion conditions $R(C) \subseteq R(A)$ and $R(D) \subseteq R(B)$ are indispensable. Let $X = I, A = \begin{pmatrix} 1 & 0 \\ 0 & 0 \end{pmatrix}$ and $B = C = D = \begin{pmatrix} 0 & 0 \\ 0 & 1 \end{pmatrix}$. Then A, B, C, D are positive semidefinite, $R(C) \not\subseteq R(A)$, $XA^\#XB^\# = 0$ and $X(A+C)^\#X(B+D)^\# = \begin{pmatrix} 0 & 0 \\ 0 & \frac{1}{2} \end{pmatrix}$ so that $\text{Tr}(XA^\#XB^\#) - \text{Tr}\{X(A+C)^\#X(B+D)^\#\} < 0$. Similarly, it may be shown that the other inclusion $R(D) \subseteq R(B)$ is indispensable.

To place the next result in a proper perspective, let us recall Lemma 2.2 of [2]. Let A, B be positive definite and C, D be positive semidefinite matrices of the same size. Set

$$M = (A - B)(B + D)^{-1}(C - D)(A + C)^{-1}$$

and

$$N = (C - D)(B + D)^{-1}(A - B)(A + C)^{-1},$$

i.e., N is obtained from M by interchanging the first and the third factors. Then

$$\text{Tr}(M) = \text{Tr}(N) \in \mathbb{R}.$$

Now, we extend this result to the case when A, B, C, D all are positive semidefinite matrices. Our proof is completely different from the proof for the positive definite case.

Theorem 11. *Let A, B, C and D be positive semidefinite with $R(A+C) = R(B+D)$. Set*

$$K = (A - B)(B + D)^\#(C - D)(A + C)^\#$$

and

$$L = (C - D)(B + D)^\#(A - B)(A + C)^\#.$$

Then

$$\text{Tr}(K) = \text{Tr}(L) \in \mathbb{R}.$$

Proof. Note that, since $A + C$ and $B + D$ are positive semidefinite, the matrices $(A + C)^\#$ and $(B + D)^\#$ are positive semidefinite. Since

$$R((A + C)^\#) = R(A + C) = R(B + D) = R((B + D)^\#),$$

we have

$$(B + D)^\#(A + C)(A + C)^\# = (B + D)^\#$$

and

$$(B + D)^\#(B + D)(A + C)^\# = (A + C)^\#.$$

Now

$$\begin{aligned} K &= (A - B)(B + D)^\#(C - D)(A + C)^\# \\ &= (A - B)(B + D)^\#\{(A + C) - (B + D) - (A - B)\}(A + C)^\# \\ &= (A - B)(B + D)^\#\{(A + C) - (B + D)\}(A + C)^\# \\ &\quad - (A - B)(B + D)^\#(A - B)(A + C)^\# \\ &= (A - B)(B + D)^\# - (A - B)(A + C)^\# - (A - B)(B + D)^\#(A - B)(A + C)^\# \\ &= A(B + D)^\# - B(B + D)^\# - A(A + C)^\# + B(A + C)^\# \\ &\quad - (A - B)(B + D)^\#(A - B)(A + C)^\#. \end{aligned}$$

By Theorem 2, the trace of each of the matrices above is real and nonnegative. Thus $Tr(K) \in \mathbb{R}$. Also,

$$\begin{aligned} Tr(K) &= \overline{Tr(K)} \\ &= Tr(K^*) \\ &= Tr\{(A+C)^\#(C-D)(B+D)^\#(A-B)\} \\ &= Tr(L). \end{aligned} \quad \blacksquare$$

Let us observe that if the second and the fourth factors in the expression for K as above are interchanged, then the resulting matrix has the same trace as the matrix L . In the result above, the condition that $R(A+C) = R(B+D)$ is indispensable. This is illustrated next.

Example 12. Let $A = C = \begin{pmatrix} 1 & i \\ -i & 1 \end{pmatrix}$, $B = \begin{pmatrix} 1 & i \\ -i & 2 \end{pmatrix}$ and $D = \begin{pmatrix} 1 & 1 \\ 1 & 1 \end{pmatrix}$. Then A, B, C and D are positive semidefinite and $B + D = \begin{pmatrix} 2 & 1+i \\ 1-i & 3 \end{pmatrix}$. Thus $R(A+C) = span\{(1, i)^*\} \neq R(B+D) = \mathbb{C}^2$. Also $(B+D)^\# = (B+D)^{-1} = \frac{1}{4} \begin{pmatrix} 3 & -1-i \\ -1+i & 2 \end{pmatrix}$ and $(A+C)^\# = (2A)^\# = \frac{1}{8} \begin{pmatrix} 1 & i \\ -i & 1 \end{pmatrix}$. Now $K = (A-B)(B+D)^\#(C-D)(A+C)^\# = \frac{1}{16} \begin{pmatrix} 0 & 0 \\ 2+i & -1+2i \end{pmatrix}$ and $L = (C-D)(B+D)^\#(A-B)(A+C)^\# = \frac{1}{16} \begin{pmatrix} -1-i & 1-i \\ -1 & -i \end{pmatrix}$. Thus $Tr(K) = \frac{-1+2i}{16}$ and $Tr(L) = \frac{-1-2i}{16}$.

The next result generalizes Theorem 2.1 and Theorem 3.1 of [5]. Let A, B be positive definite and C, D be positive semidefinite matrices of the same size. Set $F = (A-B)(B^{-1} - A^{-1})$, $S = (C-D)\{(B+D)^{-1} - (A+C)^{-1}\}$ and $T = (C-D)(B+D)^{-1}(A-B)(A+C)^{-1}$. Then $Tr(F+S) \geq |Tr(T)|$ and $Tr(F+4S) \geq 0$.

Theorem 13. Let A, B, C and D be positive semidefinite with $R(C) \subseteq R(A) = R(B) \supseteq R(D)$. Set

$$U = (A-B)(B^\# - A^\#),$$

$$V = (C-D)\{(B+D)^\# - (A+C)^\#\}$$

and

$$W = (C-D)(B+D)^\#(A-B)(A+C)^\#.$$

Then

$$(i) \operatorname{Tr}(U + V) \geq |\operatorname{Tr}(W)|$$

and

$$(ii) \operatorname{Tr}(U + 4V) \geq 0.$$

Proof. First, we observe that $R(A + C) = R(B + D)$. Then by Theorem 11, one has

$$\operatorname{Tr}[(A - B)(B + D)^\#(C - D)(A + C)^\#] = \operatorname{Tr}(W) \in \mathbb{R}.$$

Note that $U = (A - B)B^\#(A - B)A^\#$. Also,

$$\begin{aligned} \operatorname{Tr}(U) &= \operatorname{Tr}[(A - B)B^\#(A - B)A^\#] \\ &= \operatorname{Tr}[(A - B)A^\#(A - B)B^\#]. \end{aligned}$$

By Theorem 9 (by taking $X = A - B$), one has

$$\begin{aligned} \operatorname{Tr}(U) &\geq \operatorname{Tr}[(A - B)(A + C)^\#(A - B)(B + D)^\#] \\ &= \operatorname{Tr}[(A - B)(B + D)^\#(A - B)(A + C)^\#]. \end{aligned}$$

As before, since $R((A + C)^\#) = R(A + C) = R(B + D) = R((B + D)^\#)$, we have

$$(B + D)^\#(A + C)(A + C)^\# = (B + D)^\#$$

and

$$(B + D)^\#(B + D)(A + C)^\# = (A + C)^\#.$$

Thus

$$\begin{aligned} V &= (C - D)(B + D)^\#\{(A + C) - (B + D)\}(A + C)^\# \\ &= (C - D)(B + D)^\#(C - D)(A + C)^\# \\ &\quad + (C - D)(B + D)^\#(A - B)(A + C)^\#. \end{aligned}$$

(i) We have,

$$\begin{aligned} \operatorname{Tr}(U + V) &\geq \operatorname{Tr}[(A - B)(B + D)^\#(A - B)(A + C)^\#] \\ &\quad + \operatorname{Tr}[(C - D)(B + D)^\#(C - D)(A + C)^\#] \\ &\quad + \operatorname{Tr}[(C - D)(B + D)^\#(A - B)(A + C)^\#]. \end{aligned}$$

With $X_1 = A - B$, $X_2 = C - D$, $S_1 = (B + D)^\#$ and $S_2 = (A + C)^\#$ in Theorem 3 together with $a = b = 1$, one infers that the trace of the first two terms is greater than or equal to $2|\operatorname{Tr}\{(C - D)(B + D)^\#(A - B)(A + C)^\#\}|$. Thus

$$\begin{aligned}
Tr(U + V) &\geq 2|Tr[(C - D)(B + D)^\#(A - B)(A + C)^\#]| \\
&\quad + Tr[(C - D)(B + D)^\#(A - B)(A + C)^\#] \\
&\geq |Tr[(C - D)(B + D)^\#(A - B)(A + C)^\#]|,
\end{aligned}$$

proving (i).

(ii) We have,

$$\begin{aligned}
Tr(U + 4V) &\geq Tr\{(A - B)(B + D)^\#(A - B)(A + C)^\#\} \\
&\quad + 4Tr[(C - D)(B + D)^\#(C - D)(A + C)^\#] \\
&\quad + 4Tr[(C - D)(B + D)^\#(A - B)(A + C)^\#] \\
&\geq 4|Tr[(C - D)(B + D)^\#(A - B)(A + C)^\#]| \\
&\quad + 4Tr[(C - D)(B + D)^\#(A - B)(A + C)^\#] \\
&\geq 0,
\end{aligned}$$

where the second inequality was obtained by applying Theorem 3 with $a = 1$ and $b = 4$ and making suitable choices for X_1, X_2, S_1 and S_2 . \blacksquare

To motivate our next result, let us recall that in the proof of Theorem 2 in [7], it was shown that if $U = \begin{pmatrix} A_U & B_U \\ B_U^* & C_U \end{pmatrix}$ is positive definite, then $U = M^*M = KK^*$, where

$$M = \begin{pmatrix} (A_U - B_U C_U^{-1} B_U^*)^{1/2} & 0 \\ C_U^{-1/2} B_U^* & C_U^{1/2} \end{pmatrix}$$

and

$$K = \begin{pmatrix} A_U^{1/2} & 0 \\ B_U^* A_U^{-1/2} & (C_U - B_U^* A_U^{-1} B_U)^{1/2} \end{pmatrix}.$$

In the next result, we obtain an analogue for positive semidefinite matrices.

Theorem 14. *Let $U = \begin{pmatrix} A_U & B_U \\ B_U^* & C_U \end{pmatrix}$ be positive semidefinite. Set*

$P = \begin{pmatrix} G_U^{1/2} & 0 \\ (C_U^\#)^{1/2} B_U^ & C_U^{1/2} \end{pmatrix}$ and $Q = \begin{pmatrix} A_U^{1/2} & 0 \\ B_U^* (A_U^\#)^{1/2} & F_U^{1/2} \end{pmatrix}$, where $F_U = C_U - B_U^* A_U^\# B_U$ and $G_U = A_U - B_U C_U^\# B_U^*$. Then*

$$U = P^*P = QQ^*.$$

Proof. Since U is positive semidefinite, it follows that A_U, C_U, F_U and G_U are positive semidefinite. Hence their square roots exist. By Theorem 5, one has

$$R(B_U^*) \subseteq R(C_U) = R\left(C_U^{1/2}\right)$$

and

$$R(B_U) \subseteq R(A_U) = R\left(A_U^{1/2}\right).$$

So,

$$C_U^{1/2} \left(C_U^\#\right)^{1/2} B_U^* = B_U^*,$$

$$B_U C_U^{1/2} \left(C_U^\#\right)^{1/2} = B_U,$$

$$A_U^{1/2} \left(A_U^\#\right)^{1/2} B_U = B_U$$

and

$$B_U^* A_U^{1/2} \left(A_U^\#\right)^{1/2} = B_U^*.$$

Now

$$P^*P = \begin{pmatrix} G_U^{1/2} & B_U \left(C_U^\#\right)^{1/2} \\ 0 & C_U^{1/2} \end{pmatrix} \begin{pmatrix} G_U^{1/2} & 0 \\ \left(C_U^\#\right)^{1/2} B_U^* & C_U^{1/2} \end{pmatrix} = \begin{pmatrix} A_U & B_U \\ B_U^* & C_U \end{pmatrix} = U$$

and

$$QQ^* = \begin{pmatrix} A_U^{1/2} & 0 \\ B_U^* \left(A_U^\#\right)^{1/2} & F_U^{1/2} \end{pmatrix} \begin{pmatrix} A_U^{1/2} & \left(A_U^\#\right)^{1/2} B_U \\ 0 & F_U^{1/2} \end{pmatrix} = \begin{pmatrix} A_U & B_U \\ B_U^* & C_U \end{pmatrix} = U. \quad \blacksquare$$

As an application of Theorem 14, we obtain a generalization of the following result [9, Theorem 3.3]: Let $U = \begin{pmatrix} A_U & B_U \\ B_U^* & C_U \end{pmatrix}$, $V = \begin{pmatrix} A_V & B_V \\ B_V^* & C_V \end{pmatrix}$ be positive semidefinite with A_U, C_U, A_V and C_V being invertible. For any positive integer m , set

$$K = \left[(A_U - B_U C_U^{-1} B_U^*)^{1/2} A_V^{1/2} \right]^{2m}$$

and

$$L = \left[C_U^{1/2} (C_V - B_V^* A_V^{-1} B_V)^{1/2} \right]^{2m}.$$

Then

$$\text{Tr}(K) + \text{Tr}(L) \leq \text{Tr}(UV)^{2m} \leq \text{Tr}(U^m V^m).$$

While this result was proved using singular values, the following proof of an extension does not make use of singular values.

Theorem 15. *Let*

$$U = \begin{pmatrix} A_U & B_U \\ B_U^* & C_U \end{pmatrix} \text{ and } V = \begin{pmatrix} A_V & B_V \\ B_V^* & C_V \end{pmatrix}$$

be positive semidefinite. Let F_U, G_U and F_V, G_V denote the pseudo Schur complements and the complementary pseudo Schur complements of U and V , respectively. Then for any positive integer m ,

$$(i) \operatorname{Tr} \left[G_U^{1/2} A_V^{1/2} \right]^{2m} + \operatorname{Tr} \left[C_U^{1/2} F_V^{1/2} \right]^{2m} \leq \operatorname{Tr}(UV)^{2m} \leq \operatorname{Tr}(U^m V^m).$$

$$(ii) \operatorname{Tr} \left[C_V^{1/2} F_U^{1/2} \right]^{2m} + \operatorname{Tr} \left[G_V^{1/2} A_U^{1/2} \right]^{2m} \leq \operatorname{Tr}(UV)^{2m} \leq \operatorname{Tr}(U^m V^m).$$

Proof. (i) By Theorem 14, $U = P^*P$ and $V = QQ^*$, where

$$P = \begin{pmatrix} G_U^{1/2} & 0 \\ (C_U^\#)^{1/2} & B_U^* & C_U^{1/2} \end{pmatrix} \text{ and } Q = \begin{pmatrix} A_V^{1/2} & 0 \\ B_V^* & (A_V^\#)^{1/2} & F_V^{1/2} \end{pmatrix}.$$

Now,

$$PQ = \begin{pmatrix} G_U^{1/2} A_V^{1/2} & 0 \\ (C_U^\#)^{1/2} B_U^* A_V^{1/2} + C_U^{1/2} B_V^* (A_V^\#)^{1/2} & C_U^{1/2} F_V^{1/2} \end{pmatrix}$$

so that,

$$(PQ)^{2m} = \begin{pmatrix} (G_U^{1/2} A_V^{1/2})^{2m} & 0 \\ * & (C_U^{1/2} F_V^{1/2})^{2m} \end{pmatrix},$$

where the matrix at the bottom left corner is not relevant to our discussion. Now, by Theorem 1, for any positive integer m ,

$$|\operatorname{Tr}(PQ)^{2m}| \leq \operatorname{Tr}(P^*PQQ^*)^m \leq \operatorname{Tr}\{(P^*P)^m(QQ^*)^m\}.$$

Thus

$$\operatorname{Tr} \left[G_U^{1/2} A_V^{1/2} \right]^{2m} + \operatorname{Tr} \left[C_U^{1/2} F_V^{1/2} \right]^{2m} \leq \operatorname{Tr}(UV)^{2m} \leq \operatorname{Tr}(U^m V^m).$$

Similarly, (ii) may be shown. ■

Acknowledgements

The authors thank Prof. Roger A. Horn for providing a simpler proof of Theorem 7 and for his suggestions and comments on an earlier draft. They also thank a referee for his/her suggestions. These have led to an improved readability of the contents.

REFERENCES

- [1] K.M. Abadir and J.R. Magnus, *Matrix Algebra* (Cambridge University Press, New York, USA, 2005).
- [2] E.V. Belmega, M. Jungers and S. Lasaulce, *A generalization of a trace inequality for positive definite matrices*, Aust. J. Math. Anal. Appl. **7** (2010) no. 2 Art. 26, 5 pp.
- [3] E.V. Belmega, S. Lasaulce and M. Debbah, *A trace inequality for positive definite matrices*, J. Inequal. Pure Appl. Math. **10** (2009) no. 1 Art. 5, 4 pp.
- [4] A. Ben-Israel and T.N.E. Greville, *Generalized Inverses: Theory and Applications* (Springer-Verlag, New York, 2003).
doi:10.1007/b97366
- [5] S. Furuichi and M. Lin, *Refinements of the trace inequality of Belmega, Lasaulce and Debbah*, Aust. J. Math. Anal. Appl. **7** (2010) no. 2 Art. 23, 4 pp.
- [6] J.B. Lasserre, *A trace inequality for matrix product*, IEEE Trans. Automat. Control **40** (1995) 1500–1501.
doi:10.1109/9.402252
- [7] C.K. Li and R. Mathias, *Inequalities on singular values of block triangular matrices*, SIAM J. Matrix Anal. Appl. **24** (2002) 126–131.
doi:10.1137/S0895479801398517
- [8] E. Telatar, *Capacity of multi-antenna Gaussian channels*, Eur. Trans. on Telecomm. **10** (1999) 585–595.
doi:10.1002/ett.4460100604
- [9] Z. Ulukök and R. Türkmen, *On some matrix trace inequalities*, J. Inequal. Appl. **2010** (Art.ID 201486) 8 pp.
doi:10.1155/2010/201486
- [10] H.J. Werner, *On the matrix monotonicity of generalized inversion*, Lin. Alg. Appl. **27** (1979) 141–145.
doi:10.1016/0024-3795(79)90036-3
- [11] Z.P. Yang and X.X. Feng, *A note on the trace inequality for products of Hermitian matrix power*, J. Inequal. Pure Appl. Math. **3** (2002) no. 5 Article 78, 12 pp.
- [12] F. Zhang, *The Schur Complement and Its Applications* (Springer, New York, 2005).
doi:10.1007/b105056
- [13] F. Zhang, *Matrix Theory: Basic Results and Techniques* (Springer, New York, 2011).
doi:10.1007/978-1-4614-1099-7

Received 18 December 2016

Revised 8 February 2017